Reincdleer Patb.erns

Instructions: The reindeer were playing tricks and changed one of the numbers in each

pattern table. Can you fix each table?
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1 18 1 16 1 2 1 11
2 25 2 14 2 4 2 21
3 32 3 11 3 6 3 31
4 39 4 10 4 8 4 71
5 44 5 8 5 9 5 51
6 53 6 6 6 12 6 61
term value term value term value term value
1 256 1 19 1 7 1 6
2 128 2. 28 2 13 2 9
3 62 3 37 3 18 3 13
4 32 4 46 4 22 4 17
5 16 5 54 5 25 5 21
6 8 6 64 6 28 6 25
term value term value term value term value
1 1 1 1 1 7 1 1
2 2 2 3 2 10 2 3
3 3 3 4 3 13 3 9
4 % 4 8 4 16 4 24
5 11 5 16 5 19 5 81
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